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Tom has $80 pocket money. 3 of Jack’s pocket money is $10 more than Tom’s.

Find Jack’s pocket money by the method of solving equation. (show your
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{a) Which of the above shapes has/bave four right
angles? Write the letier(s) for the answer,

Answer: _ W, E

(b) Figure C and Figure D each has *{one pait\/ two pairs
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The survey results of P.6 student’s puposes.

A survey on P.6 students results.

A school conducted a survey on P.6 student’s purposes for using the internet.
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My father bought a box of apples. He divided it into 3 equal shares and gave
one share each to grandfather, uncle and auntie. Auntie ate 6 of her share and
24 apples were still left. Use the method of solving equation, find the
number of apples originally in the box.

(Show your working)
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